ORD , DIVISION OF POWER JEFFERSON PARK STREET LIGHTING IMPROVEMENTS C.I.P. NO. 530801-100007

BID TABULATION, OPENED 12/17/2014

ENGINEER'S ESTIMATE = \$98,252.00

ENGI	NEER'S	ESTIMATE =	\$98,252.00														
					U.S. Utility Contractor Co. 3115 E. 17th Ave, Columbus, OH 43219			Jess Howard Electric Company 6630 Taylor Road Blacklick, OH 43004			J. Ranck Electric, Inc. 1993 Gover Parkway Mount Pleasant, MI 48858						
Ref.	Item No.	Description	Estimated Quantities	Units	Material	Labor	Total	Extended Total	Material	Labor	Total	Extended Total	Material	Labor	Total	Extended Total	Material
1	E-1	Pull Box, Medium Duty, 13"x24" -MIS - 4	13	EACH	\$251.91	\$240.00	\$491.91	\$6,394.83	\$212.08	\$353.82	\$656.90	\$7,356.70	\$250.00	\$315.00	\$565.00	\$7,345.00	\$176.17
2	E-2	Removal - High Mast Light Pole Foundation - MIS - 23	2	EACH	\$11.70	\$768.00	\$779.70	\$1,559.40	\$318.54	\$475.82	\$794.36	\$1,588.72	\$25.00	\$200.00	\$225.00	\$450.00	\$0.00
3	E-3	Foundation, Residential Post Top - MIS - 25	14	EACH	\$232.66	\$528.00	\$760.66	\$10,649.24	\$251.04	\$557.09	\$808.13	\$11,313.82	\$250.00	\$450.00	\$700.00	\$9,800.00	\$291.90
4	E-4	Pole to be Wired - MIS - 41	14	EACH	\$43.88	\$144.00	\$187.88	\$2,630.32	\$43.15	\$75.94	\$119.09	\$1,667.26	\$200.00	\$350.00	\$550.00	\$7,700.00	\$43.72
5	E-5	Post Top Luminaire, Acorn Globe, 60w LED - MIS - 51 MOD	14	EACH	\$1,325.61	\$96.00	\$1,421.61	\$19,902.54	\$1,212.48	\$76.18	\$1,228.66	\$18,041.24	\$1,500.00	\$100.00	\$1,600.00	\$22,400.00	\$1,133.00
6	E-6	Removal - Existing Underground System - MIS - 75	LUMP	LUMP	\$1,170.00	\$4,608.00	\$5,778.00	\$5,778.00	\$837.15	\$8,563.96	\$9,401.11	\$9,401.11	\$350.00	\$4,000.00	\$4,350.00	\$4,350.00	\$0.00
7	E-7	Pole - Fiberglass Decorative Lamp Post - MIS - 91	14	EACH	\$102.96	\$192.00	\$294.96	\$4,129.44	\$963.25	\$151.88	\$1,115.13	\$15,611.82	\$1,500.00	\$300.00	\$1,800.00	\$25,200.00	\$880.20
8	E-8	Guidelines and Policies Acceptance/Inspection Guidelines - MIS - 95 - No Pay Item	NA	NA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9	E-9	Trenchless 1-1/2" Cable -In-Duct - MIS - 124	2,008	LINEAR FEET	\$3.55	\$7.84	\$11.39	\$22,871.12	\$3.73	\$7.56	\$11.29	\$22,670.32	\$7.00	\$8.50	\$15.50	\$31,124.00	\$3.09
10	E-10	Conduit, 2-1/2" Ridgid, Trenchless Installation - MIS - 125	274	LINEAR FEET	\$5.51	\$25.23	\$30.74	\$8,422.76	\$7.36	\$20.32	\$27.68	\$7,584.32	\$10.50	\$15.00	\$25.50	\$6,987.00	\$7.66
			ornana ar					000.004.04				407.007.01					
	Special		BIDDER'S SU GENCY (15% of		\$82,334.34 \$12,350.16			\$95,235.31 \$14,285.30		\$115,356.00 \$17,303.40							
	BIDDER'S TOTAL				\$94,684.50			\$109,520.61		\$132,659.40							
	% DIFFERENCE FROM ENGINEER'S ESTIMATE							-3.63%	11.47%		35.02%						
Proposed Subs C.C.? (Pgs.11)				no			no		no								
	Contract Compliance No. (Pg. 14) Statements & Affidavit Completed? (Pgs. 33-36)				34-1606689 (exp. 1/22/16 FBE) ves			31-4405752 (exp. 10/29/16 MAJ) yes		38-2677797 (exp. 4/2/16 MAJ) yes							
	(0) Addendum Ackldgmnt. Completed? (Pg. 42)					yes			ves		yes						
	Proposal Signature Completed ? (Pg. 43)					yes			yes		yes						
	Bonding Company (Pg. 47)					North American Specialty Ins. Co.			Federal Ins. Co.		Cincinnati Ins. Co.						

Er 5	Tip-Dan Electrical Construction and Telecommunications Inc. P.O. Box 247 Groveport, OH 43125				Complete General Construction Company 1221 E. Fifth Ave. Columbus, OH 43219				Asplundh Construction Corp. 136 Mill St. Suite 230 Gahanna, OH 43230				
Material	Extended Total	Total	Labor	Material	Extended Total	Total	Labor	Material	Extended Total	Total	Labor		
\$722.59	\$6,825.00	\$525.00	\$300.00	\$250.00	\$10,010.00	\$770.00	\$220.00	\$550.00	\$7,632.30	\$587.10	\$410.93		
\$2,500.00	\$11,000.00	\$5,500.00	\$5,000.00	\$500.00	\$1,000.00	\$500.00	\$300.00	\$200.00	\$1,834.40	\$917.20	\$917.20		
\$1,888.00	\$19,950.00	\$1,425.00	\$1,000.00	\$425.00	\$22,400.00	\$1,600.00	\$600.00	\$1,000.00	\$17,472.00	\$1,248.00	\$956.10		
\$197.09	\$3,850.00	\$275.00	\$200.00	\$75.00	\$3,150.00	\$225.00	\$25.00	\$100.00	\$2,303.00	\$164.50	\$120.78		
\$1,368.80	\$31,500.00	\$2,250.00	\$750.00	\$1,500.00	\$19,600.00	\$1,400.00	\$400.00	\$1,000.00	\$21,364.00	\$1,526.00	\$393.00		
\$0.00	\$5,000.00	\$5,000.00	\$5,000.00	\$0.00	\$7,000.00	\$7,000.00	\$3,000.00	\$4,000.00	\$3,669.00	\$3,669.00	\$3,669.00		
\$1,138.70	\$30,100.00	\$2,150.00	\$750.00	\$1,400.00	\$2,100.00	\$1,500.00	\$300.00	\$1,200.00	\$16,940.00	\$1,210.00	\$329.80		
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
\$3.15	\$26,606.00	\$13.25	\$8.00	\$5.25	\$28,112.00	\$14.00	\$6.00	\$8.00	\$31,324.80	\$15.60	\$12.51		
\$5.51	\$12,604.00	\$46.00	\$38.00	\$8.00	\$15,070.00	\$55.00	\$35.00	\$20.00	\$14,796.00	\$54.00	\$46.34		
	\$147,435.00				\$127,342.00				\$117,335.50				
	\$22,115.25				\$19,101.30				\$17,600.33				
	\$169,550.25				1 1, 111				, , , ,	\$134,935.83			
	72.57% yes				49.05% no			37.34% no					
	31-1443058 (exp. 11/17/16 MAJ)				31-4366382 (exp. 10/3/15 MAJ)					11-2536791 (exp. 6/5/16 MAJ)			
	yes				yes				yes				
	yes				yes				yes	·			
	yes Old Republic Surety				yes Arch Ins. Co.				yes and Surety Co.	velers Casualty	Tra		

Ref.	ef.		Estimated						
No.	Item No.	Description	Quantities	Units	Cost	Quantity		Total	
		Pull Box,							
	F 4	Medium Duty,	42	E A C. I.					
1	E-1	13"x24" -MIS -	13	EACH					
		4			\$618.00	13	\$	8,034.00	
		Removal -							
		High Mast							
2	E-2	Light Pole	2	EACH					
		Foundation -							
		MIS - 23			\$63.50	6	\$	381.00	
		Foundation,							
3	E-3	Residential	14	EACH					
3	LJ	Post Top - MIS -	14	LACIT					
		25			\$990.00	14	\$	13,860.00	
		Pole to be							
4	E-4	Wired - MIS -	14	EACH					
		41			\$175.00	14	\$	2,450.00	
		Post Top							
		Luminaire,							
5	E-5	Acorn Globe,	14	EACH					
		60w LED - MIS -			4				
		51 MOD			\$1,350.00	14	\$	18,900.00	
	E-6	Removal -							
_		Existing							
6		Underground	LUMP	LUMP					
		System - MIS -			4				
		75 Pala			\$63.50	18	\$	1,143.00	
		Pole -							
_	E-7	Fiberglass		5460					
7		Decorative	14	EACH					
		Lamp Post -			¢000.00	1.4	_	12 600 00	
		MIS - 91 Guidelines and			\$900.00	14	\$	12,600.00	
		Policies							
		Acceptance/In							
8	EO	spection	NA	NA	NA	NA		NA	
0	E-8	Guidelines -	INA	INA	IVA	INA		INA	
		MIS - 95 - No							
		Pay Item							
		Trenchless 1-							
		1/2" Cable -In-							
9	E-9	Duct - MIS -	2,008	LINEAR FEET					
		124			\$11.00	2008	\$	22,088.00	
		Conduit, 2-			7==:00		7		
		1/2" Ridgid,							
10	E-10	Trenchless	274	LINEAR FEET					
		Installation -							
		MIS - 125			\$36.00	274	\$	9,864.00	
	•							al \$89,320.00	
	Special					Force Accou	unt (10	% of Subtotal)	
	Special						(10	o. oabtotal j	
							.	- L ¢00 353 60	
<u> </u>							101	al \$98,252.00	
ł									